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Isosceles Triangle Theorem and the Converse

If two sides of a triangle are congruent, then the If two angles of a triangle are congruent, then
angles opposite those sides are congruent. the sides opposite those angles are congruent.
>

If... AB = BC. If... LACB = £BAC.

A L L
Then... ZACB = ZBAC. Then... AB = BC.

TL .b[,‘ \og$¢. Ghblts GHiv =

TC o b is isesedes Llon bk B s isosceles.

Elon Ll basc A'abt.cb

Gye %



) An architect is designing a community park
between N. First St. and S. First St. The
pathways on either side of the pool will be
equal in length and will provide effective access
and circulation around the pool. To protect the

!

landscaping and to minimize erosion, the | ™
architect will place a triangular section of | g
triangular cobblestones at the corners along ~
Park Plaza. What angle measure should the =
architect specify for the corners in her design? —
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Try It!

2. a. What is the value of x?
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Try It!

2. b. What is the value of x?
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What are the lengths of all three sides of the
triangle?

SOLUTION
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Try It!
3. Use the figure shown.

a. What is the value of x?

b. What are the lengths of all three sides of the
triangle?

dx + 5
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If a line or line segment bisects the vertex angle
of an isosceles triangle, then it is also the
perpendicular bisector of the opposite side.

i

B = BC and m£ABD = m£ZCBD

Then...
BD 1 AC and AD = DC




A prefabricated house is
delivered to a foundation in two
symmetric halves that are
assembled on-site. Along the
planned route to the site, the
truck must pass under a bridge
that has a clearance height of 17
feet. Should the trucker plan a
different route for delivering the
house? Explain.
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